TR EELUBEOASE(CERT ARG RES

BNE T RIS EER

£ B

FEAE BT

BEEER

1ER

Btk
3ER |Oast |EE

m o - 308 oval B 77 I 8 sl Y

EERED

* 2 0-

5 AN AN
@EEW’@) =

|

L

It

=11}

S

*
N

| TR
O BLpx=

*
N
*
o

SN

ok gl

HAEEA

HESB

HAEA

BAEB

HhIRA

#hIEB

O HlOir-FEE

* OO0 *
NSNS
o olololop

HRdt=

*
N

fmIE
FLA -2

WA

* %
N N
o o

=PI

HED

I

o o

HEA

H=¥B

#EFEC

O HEBHFIZFER

NMNPNMNPNNWRWLWNDNNDNNNNDPERNDNRERNNEAEPDPDPDODNN RN

O _#% I AIFR

2~4

O BRaRFIRR

2~4

N
oc oo oo

HH

ERBLFA

EEREB

IR 1

@

/EEIN

Ol O O

@

OO OO0

RigRE

—~

N o N o pojeo po N
o

o w o w ok o

it
::ﬁ

*
N
ololelolololel el

SER

=S -aZa=H—3 1

N

REI

BEED

*
N
S
*

N—T429

SAT4Y

i 1

NTIL

eojele;

O 7R

* [ % (¥ %
cocoo oo

R E

RERE

NP N NN

'I%Eiﬁ

[EERA

O EfE

]I

O EFRIREE

NNNJ}NNNJ}J}J}Q}NNNNNNNNNNNzwwwwwwl\?l\?

RO RO o [ RO 0 o 1 [ I 1 o R0 R0 R0 N0 N0 N0 R0 (R0 R0 o [~ oo 1 oo 1 (oo 18 R0 N | R0 R0 IO R0 RO 18 18 100 RO R0 RO N o 18 R0 I8 N I o O R | o | N

o o




Ol FRB-%E AOCOILEIREHE * [Ts - B HEIRE
I TR AL 2~4 * 4 0-4
=E 4~24 * 2| % 2~14] 0~16
EU3EY] 2~12 * 2| * 3 0-5
T IR 2~4 * 3 0-3
S TR R 2~4 * 2 0-2
HFES T L 2~6 * 2 0-2
M T £ 2~8 * 2 0:2
MR T 2~8 * 2 0-2
[RENE 2~4 * 2 0-2
B 2~6 * 2 0-2
BEIETE 2~8 * 2 0-2
| EREH 2~10 * 4 0-4
B 2~6 * 2 0-2
WISy kit T 2~8 * 2 0-2
| RILFAT«TIGHE 2~8 * 2 0-2
T ¥4 2~10 * 2 0-2
ERIRIE b2 2~10 * 2 0-2
O fElEYmER 2~4 * 2 0-2
O S4T7tz4+— 2 * 2 0:2
H mx | ECARRER 2~4 x 2 0-2
Fq nEEE 2~4 * 2 0-2
# SE 25000 2~5 * 3 0-3
B BXEEN S 2~4 * 2 0-2
[z EERECARR 2~4 * 3 0-3
i & 2~6 * 4| % 2| 0-2+4-6
El IEERANTE 2~6 * 4 0-4
5 XETHAY 2~4 * 4 0-4
% [OM=DPEY.&: T 2 * 4 0-4
Hl RE RE Ik 2~4 * 2 0-2
%l AR RE 2~16 * 2 0-2
. axik 2 * 2 Q-2
Bl FHE HigEH# 2~10 * 2 0-2
= ERIABES 2~10 * 2 2 0-4
=4k X e E 2~6 * 2 2 0-4
X ArEEEAL AR 2~6 * 4 0-4
X OSa=H— 3 4 2~4 * 2 0-2
X AENIERM 2~10 * 3 * 3 0-6
X {rEEETR 2~6 * 3 0-3
X A& HE 2~4 % 1] % 1 0-2
X ArEEE 2~14 * 2| % 2 0-4
¥ AL QIREE 2~10 * 3| % 2 0-5
*E O £ ERKR—Y 4 * 4 0-4
O RKR—ViE®H 2 * 2 0-2
O EEEE 2 * 2 0-2
O #MERKR—YI 4 * 2 2 0-4
O #&RR—YI 2 * 2 0-2
QO RL—=5%% 2 * 2 0-2
ESy) ECa7ZILTHAY 2~14 * 2 0-2
HSIRTHALY 2~14 * 2 Q-2
ﬁgg EXﬂ:iEﬁn 2~06 b3 2 0-2
i 2~4 * 2 0-2
avEa—4- LEE 2~6 * 2 0-2
(OF %= O EEHSEAR 2 2 2
R—LJL— L EE) 1 1 1 3
AW O RS 1 2 3
HATHEE 30 30 30 90

NEEEDA4EMIE. EFERFRICEVTI0BEOEFRHBFEREXBELTHRE
XK FHFEREEEORE.

)



